‘olajo] AEAE FAMSHE stw” AT Atgstwol MEsty”

o | % A zsan
evwmmon | 7} E A2
g 207
TEL (0638360012 - TEL  (063)836-6010
H ] 1 o Xl SHAI AL
(54572) 7% oAbl SOHE A=A 85 R L 0p3)724-4252 0 EAY  (063)336-8683

2023srE HIDH SEAIE

og
0
i

=0 % WS KINGIRAID Kol SHIREKI0N OIS SERDLD Z20t 24A10) 0SS S2ILIC

010] 21 HAISO0| =t Hl$§ RXIE X2 % o2 50| AN 00! HIDK! SREsks

= 15(0] AOIZ IR 32t 42

o BAIBDIE. 25D FRAHRSLIC, CIE0f Susol §OJIDI Broi0l Slet x| S5 Z2
of

S0l 2ot Ao EIRISE ZH=EILICE

< OH
oor
=i
E
t,Q
0x
_|§
o0
O|'J
o
=2
e
_5
<
N
[HO
m
Jon
EJ
H0
0_9
¢ 3
W' -
o

o

1

Ol2h 2tedolf == XIES0ll ot =X P—‘?’— P HIE0] 2 Edok D% ZA=C|0d, W=t
l:i

=
& 240 et AZ-WA=E Soll )t BIE= =0l ofel| &R0 8 FE=ELICL

OfHoll =2 £& £ =Xt F& BIE= 2=t Qo =2iid, #iXe! 282 SHI0IXIE Sl
NE&E SKloH=e BsLIC

1. 2Al: 20234 058 152(E) ~ 058 18(=) (32 4Y)
2. tal: 2std MA| st
3. & N MF=SERXS(RHA- X2l MEH, 238t A
4, =K BY ZH L AZ-WY oI Ik [23]: 2023. 5. 9(&h), 5.11(3)]
HQ SHAY(BHRtAr HISEE BHAY) | BHA(BtetA SEE Bt)
ME=FSPARRE=i 350,000 350,000
=X FE =AH 293,800 260,800
% SHM 2L D X0ls BEAMS SHIEHK e SMol A AM 010 B2 YRR
SO B LMGE HI2US FASBUG
2023. 5. 4




K0

X

-

© A

0 =M = T oT= I T
v <r <l Ul <r <) < AN il A =
= R =4 R = <1 K K .
5 L 3 & BE Eo o w3 wm & w
< = g < w ) .. .. 0 - W - S
‘ By W 4 9 <U 4 K E T8
e K Ko ozt K ok oz
] 5
& ™
B 5 S & i
R a4 40 = mﬁ i
s 2 oaow 3 = - 2
750 o i) K _- _ ) |
° . K0 Kl A R0 W= E T Mu.__ E}E ul 0 ujo B ~ o %)
S| | M- Ho on 0 Wl K4 WK =33 W Ki R ol ® . =
LU T RU = =& Fls  JFM | oKD U - W = ROl R
=) KB R M i <o RT 0F 4 S I n < =R R
= Kl D LN I R = Ll = - - o) — = bl
Ty Huwbs" R s OB DY B | g DL TET S
RIS T wmmD K é%%% T2 B AT AKD A AT | RN AT or 7S W KD 0D K
s T I I || - I3}
T oo @YU 0 S S . - 04 kR KR
Kl KT = DOE D! 00 Py N A A= = W
o0 A K00 0= AKX ~ AT A AKO A AT v
oNoNeNoNo] o O % 1N
2 Q 88838 S5383 %S S
gle Elogogt 8REY2IT2L | |g8gTTI82g 88823 |3 g2-ges g
g 1153838 Sodddddd 8 sxbddbdda|gsdde g Zgords ¢
|8 gl SE8S888883 S8882887 35887 8%
NS 52 e2ged < < &S
== H SR T B ° H
H = al
0 %4 < | < <| T« 3
W | B 3 = | o0 o | O o W | R o
= |z @) E_ d __Mo.+_ Rl ﬁ
< s <
< < < 2
8| < K Kk | Kk | K K | N
— | = = = 4| = 1= = A | = RN
= | ol A0 = A = 4 4
- o~ —~ ol & —
R0 P2 5 =5 53 50
-5 W =ol =8 Ko
m=_ K O ~ = O

123

A

0

tLh &A1 ARSI 2

110§




